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g Heg- (General Instruction)
» Candidates are required to give their answers in their own words
as far as practicable.
el JAIWG 379 TGl H SR < |

» The total number of questions is 19.

Fel ULl B FEAT 19 B |

» Question number 1 to Question number 7 are very short answer
type questions. Answer any five of these questions. Each question
carries 2 marks.

U AT 1 W U T 7 dF JMfd g SR U € | g
I fol Ui Ul & IR QAT | e U9 &I A1 2 3id
fRefRa 21

» Question number 8 to Question number 14 are short answer type
questions. Answer any five of these questions. Each question
carries 3 marks.

Ue T 8 W U WA 14 % oY SR U 21 3 |
f2l Ui Uedl & IR QIR | Ud U & 919 3 3 FeiiRa

=

» Question number 15 to Question number 19 are long answer type
questions. Answer any three of these questions. Each question
carries 5 marks.

o G715 I YT I 19 T o" IR U 2| 38 9
fopsl TF Ue9l & SR IV | U 99 &l 9149 5 3 FeifRd
=
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10.

Section-A (TUs-3) (2x5=10)
If an - an, find the value of nC17 .

I nC9 - an, ar nC17 BT A9 ST HITY |

Find first two terms of the sequence whose n"termis a,, = (—1)%"1.57*1,

A B ndl U a, = (—1)™ 15" g, AT U2 a1 UGl &I A S DI |

If two lines [; and [ are perpendicular to each other and slope of line [; is 2, then find
the slope of line [,.

Al T NER [ 3R [, IRER U N R o & T NGl [; &1 T 2 &, df T [,
@1 Gl T BHITT |

Find the acute angle between the X-axis and the line joining the points (3,—1)and
(4,-2).
X- 3187 3R fdgall (3,—1) 3R (4, —2) B! AT drell Y@ & d1 BT LA—hI0T S
BITSTY |

Find the length of the latus rectum of the parabola x? = —16y.
R x%2 = —16y B AN SiAl I dd1g A HIFTT |

Write the perpendicular distance of point (2, 3,4) from XY-plane and YZ-plane.
XY-de Ud YZ-da ¥ 145 (2,3,4) @ dgad 0 IRy |

A coin is tossed and a die is thrown. Write the sample space for this experiment.

Udh FIahT IBTAT ST & AR Udh UGN Bl Sdl & | §9 URIETOT &7 yfoesl Jafte
forfaT |

Section-B (TUs-4) (3 x5 =15)

In how many of the distinct permutations of the letters in MISSISSIPPI do the four S’s
not come together?

MISSISSIPPI 3Tsg & 31eRI W a1 fI~1— 9= shaeral § | fhd+l & IRl S TS 1T 81
T 87

If A.M. and G.M. of two positive numbers a and b are 10 and 8, respectively. Find the
numbers.

IS QT gAHS TR a 9T b & 419 FHIAR AT TAT YUIR AT ST 10 AT
8 &, Ol &I SI1d DI |

Find the equation of the right bisector of the line segment joining the points (3,4)
and (—1,2).
fdgatl (3,4) 3R (—1,2) B ™ arell IGRIvE & o1 FHIGHTSTD Y& DI FHIBIOT
S BITTT |
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Find the equation of a line perpendicular to the line x — 2y + 3 = 0 and passing
through the point (1, —2).

NG x—2y+3=0 R ad@ IR [&§g (1,-2) A S arell & I FHISROT =16
HITTY |

Find the foci, eccentricity and the length of latus rectum of the ellipse

4x? 4+ 9y? = 36.

ST 4x2 + 9y? = 36 ® NI & e, Ichadl dAT AN SidT & oI
ST N |

Are the points A(0,7,10), B(—1,6,6) and C(—4,9, 6) the vertices of a right-angled
triangle?

71 fdg A(0,7,10), B(—1,6,6) T C(—4,9,6) T& F9H0 s & ofid &7

A coin is tossed twice. What is the probability that at least one tail occurs?

Udh RIFPHT QI IR IBTAT STl 2 | BH A BA UH U UT 89 DI a1 UTiydhar &7

Section-C (TUs-9) (5 x 3 = 15)

How many words, with or without meaning, can be formed using all the letters of the
word EQUATION at a time so that the vowels and consonants occur together?

EQUATION I & 3feRl ¥ fdvae, 31eigul a7 31 Teal &l =T &I S Faell &,
STafdh TR AT ST Udb A1 X8 87

If p*, g™ and rt" terms of a G.P. are a, b, and c respectively. Prove that
a? "h"PcP 4 =1,
A feT IR 81071 &1 pdl, qdl q rdl g A a, b TAT ¢ 81, a g Iy

f a?"pT PP =1,

Find the coordinate of the foot of perpendicular from the point (—1, 3) to the line
3x —4y—16 = 0.
g (—1,3) 9 @ 3x — 4y — 16 = 0 W STal T dqug & Fcerned Sd I |

Find the equation of the circle passing through the points (2, 3) and (-1, 1) and whose
centreison the linex — 3y — 11 = 0.

fagatl (2, 3) 3R (-1, 1) § S dTel g BT FHIBRUT A1 DI RTFaT dvg ¥=aT
x—3y—11=0 R Rerd 2|

If E and F are events such that P(E) = 1/4, P(F) = 1/2 and P(E and F) = 1/8. Find:

(i) P(not E) (i) P(not F) (iii) P(Eor F)  (iv) P(notEand notF) (v) P[(E n F)'].
geqaW E 3R F 39 UbR © fb P(E) = 1/4, P(F) = 1/2 3R P(E 3R F) =1/8 o IMd
CAINE

(i) P(ETET) (i) P(F8I) (i) P(EAT F) (iv) P(E-=RI3IR F =21)  (v) PL(E n F)'.
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